2. What are the x-intercepts of each of the following functions?

a. y=x"+3x-10

b. y=2x-10

c. y=-—x*—4

3. Describe the end behavior of each of the functions. Rises/Falls to the left, Rises/Falls to the right.

a. y=—x"+5x-4

b, y=x"+x —x"+1

c. y=—x —x"+2x*+1

4, Is (x-4) a binomial factor to the following functions? Try factoring each expression.

a. y=x"+x-12

b. y=x"+x-20

c. y=2x"-5x~12

5. Factor the following expressions completely.

a. 8x*—16x-24

b. —4x’—6x

c. 6x2—15x—8x+20

d. 2x° —8x* —64x

e. X-17x+72

f. 10x%* —4x+15x—6




il 6. Fill in the missing factors.

(x2 —3x-—1) (3x+2)

(x-3)

item Bank

(2x-3) (x+6)

(3x-1)

a. -2x* +2x+12=—2(x+2)

b. 3x*—13x—10=(x-5)

c. 12x* —10x+2=2(2x-1)

d. 2x*—6x*—2x=2x

e. 3x"+6x—72= 3(x—4)

f. 6x* —13x+6=(3x-2)

7. Simplify the following.

a. (2-4i)—(-5+7i)

b, (—2—4i)+(-5+7i)

c. (2-4i)(-5+7i)

8. Use the quadratic formula to solve.

a. x> +4x+5=0

b. 2x* —6x+5=0

[ 9. Simplify.

a. \-24 b. v-18

c. 24-72

—24/50




10. Solve the following.

a. 2x° +3x* —8x—12=0

b, 3x*+2x* - 75x--50=0

¢ 2x —5x*-2x+5=0

d. 3x° +2x* —27x—18=0

11. Solve each equation by taking the sguare root.

a. 10x* ~10=630 b, 3x+4=130 c. 6x*+1=121 d. —10-3x* =-310
12, Solve each equation by factoring.

a. x*—8x+15=0 b. x*—8x+7=0 c. x>—12x+32=0

d. x> +2x=0 e. 102 +11x-6=0 f. 6x*—23x+20=0

.13. Solve each equation with the quadratic formula.

4. 6x°+8x—25=-3

b. 8x*+1lx—1=6

c. 4x*-9x-18=6

d. 10x*-11x—15=-8




Name:

Linear, Quadratic, and Exponential Functions

Class:-

Date:

Ip:

Baged on the difference or common ratio in y-values, identify the data as linear, quadratic, exponential, or
neither. Justify your answer.

1.

X 3 2 1 0 1 p) 3
¥ 1/2 1 2 4 8 16 32
FUNCTION:
Justification:
X | -3 -2 -1 0 1 2 3
y Co-16 -13 ~-10 -7 1 -1 2
FUNCTION:
Justification:
X -3 -2 -1 0 1 2 3
¥ -18 -6 w2 0 2 6 18
FUNCTION:
- Justification:
X -3 -2 -1 0. 1 2 3
y 127 1/9 1/3 1 3 ) 27
FUNCTION: )
Justification:
* | 3 3 1 0 i 3 3
y 1 ) 7 5 3 1 -1
FUNCTION:

~Justification:




" Name:

X -3 -2 -1 . .1 2 3
Y 27 -9 -3 0 3 9 27
FUNCTION:
Justification: ‘ I
Determine whether the functions are equivalent. o 7‘-/ 1
AL 1]
|3
d P 0
INPUT OUTPUT M || /(’ ||
1 11 -2 y
r 19 _1|E '
3 27 - -
1 35 manyd s
5 43 &
W, &
. 3 _
8.
INPUT ouTPUT
1 1
2 4 ) R
3 9 - 7
4 16 1. ‘/
5 25 24 7
g 4
s
- _1}.: 7
9- y=x —7:!(";‘1 _-Ia /‘{
ol “ AaEE
ahn ! B
o /
‘ »
3 I |
{ 1.
S S { = X T T
FRAY
) [
14] \ l —
! F, L}
-4
{ N

3




Chapter 2 Review for Mid-Term

Find the Vertex, Axis of Symmétrv, Mak/Min of each of the foilowing;

Standard Form
y=ax*+bx+c

Vartex Form
y o~ a(x—.- h)2 + k

Factm;ed Form
Yy=a(x-n)x—1)

1. f(x)=-3x"-6x+5

Vertex:
“Axls of Symmetry:
Concave up/down:
Mlnimumkl\flaxlmum —

y-intercept

2. S(x)=2Ax-3)7 +4

Vertex:
Axls of Symmetry:
Concave up/down: _

Minimum/Maximum

3. f®)=—(x+3)(x-3)

Vertex:

Axis of symmetry:.
Concave up/down;
pMinimum/Maximum

Roots :

4. F(xy=2x" —12x—7

Vertex:.__
Ams L;vf Symmétry: |
Cancave upfdown:
Minimum/Maximum _

y-intercept H__

5, ,_f(x>=—_21—(x+2)’—5

Vertex:
AXls of Symmetry:
Concave up/down:

Minimum/Maximum

6. f(x)=-3(x-4(x-2)

Vertex: -

Axls of Symmetry; _
Coneave ug/down:
Minimum/Maximom

Roois

7. f(x)=-x* 6x—1

Vertex:

Axis of Symmetry:

'} Concave up/down:
Mrlnimum/MQxir'ﬁum

y-intercept )

8. f(x)=-3(x-2)*-4
Vertex: _

Axis of Symmetry:
Concave up/down: "' :

Mirimurmn/Maximum

5 7D =20+ 5)a13)

Vertex: _

Axis of Symlﬁetry: '
Conicave up/down:
Minimum/l\nékimum

Roots

- | Convert the following to standard form.

110, S =2x -4 (x+1)

-

11, f(x)=—(x—6)*+4

12, f(x)=-20Cx+1(2x-—1)

13. f(x)=2(x+1) -3




14, Given the vertex (-2, -9) and a point {1, 0}.

Write a quadratic equation given the following information. Must Show All Worle
: o 15 Glven the roots are (- 6 0} and (4, Qlanda point {2, -3)

16 Write the equatfon in vertex form,

th2)

otk e i op sn g e i e e
¥ '

17. Write the equation n factored form.

1

I

18, Simpiify the following, -
2 (2 41)—(5+74)

b. (~2-4i)+(—5+71)

3 (—2 —4i)(—-5+71)

19 Use the. quadratlc formuta to solve..
a x*+4x+5=0 ‘

b. 2x2_~76x,+5 =0

(S




Chapter 3 Raview

1. Describe the End Behavlor for the following functions. Write these as statements.
A x -y —m, f(x)—> As x —> 00, f{x)—>

a y=—xt4+5x-4 b. p=x’+x" —-x?+1 c y=—x"—x*+2x* ¢}

2, Describe the following as even or odd function,

AL f(x) = -3x" +4 _ D, P v':‘-’-_’. e : E. EET S SR e B

B, F0)=2x" — 4x

i

e b o
:V‘ ! M TR L IR

C f(x)=2x"-3x* —dx+x

3. The graph contalns x-intercepts at (1, 0) and (-2, 0) and a y-Intercept at (0, 4). Write an equation to represent this
function

Functlion:

What is the degree of the function?

L4

4, The graph contains xrintercepts at (3, 0) and ( 1, 0)and a y—lntercept at (D, -9). Write an equatlon to répresent this
funct!on 1 _

Function:

What is the degree of the function? _____




AY

1
*

function.

5. The graph contains x-intercepts at (-1, 0) and (2, 0} and a y-Intercept at (0, 8). Write an équation to rapresent this

%

L SO M

-| Function:

What Is the degree of the function?

[6. Zetos and Multiplicities,

A. The graph of a palynomial intersects
the x-axis at -2, 0, and 6. Write the
e_quation Assumea=1,

B. The graph of a polynomial intersects
the x-axis at :3%,%,0. Write the

equation. Assume a = 1

C, What are the solutions to the
function 5x° —2x=0?

7. What are the zeros of the polynomial 2x° +x% —2x —1 if (x- 1} is a factor?

8. What are the zeros of the polynomial x4+ 2x* —25x-50 if.{x~ 5) is a factor?

Muitlply the following.

9. (Bx+1)(2%" ~4x—5)

10. (3x-2)(-2x" ;—3x+1)

11, (4x~3)(23¢2 +5x—17)

wy




OHAP’JEIQ 1 midterm HeWeu)

25 T - NAME

\

NO CALCULATOR

:L) A polynomial, f(x) is divided by three diferent finear expressions, as lsted & e table.

THe sempinder ofter the division by each linear expression is also shown in the table.
Linear Expression - Remaindey
X+l 2
x—1 4
: ’ x+2 b .
Which' st benmntbfthe polynomial equation, when f(x} 07
A 2
B, -2
C1
D ~1

) The pnlynnmaal g() is divided by abmomml. The result is shown belnw

% ¥ 2+ a+~—-—25 |
Whahs g(x)? Answen" in the spncepmuded

- 3) What is the remainder when £(x) = £ + 527 — 20 — 3915 divided by x +77

69 The graph of afunction is shown What could be the equation of the graph?

A FQx) = —x8 4 2%

B f(x}mx — 2% - - _ : /f
L Fay = a2 _ ‘
D f{x}=~x3+2x_ _ ' : 7 LN

5) Tthrdtetmnfﬂ:eseqnmaxs 12 Emhmmmrtheﬁntlstwomnesthemm tem.
White an explicit function that models the general tmufthz sequence f{n).
White your answer in the space provided _

oS-




" CALCULATOR

é "A quadratic equation has the following coefiicients: # =5, b = —10, ¢ = 15. Wiitc the
sohiion(s) of the equation. Enles one sohgion in each response box. If there is only one sohtion, - -
leave on response box blank : T :

-7) A quadratic equation is given as X = éX—[—)O == @) Wiite the snhslwn(s) of the equation in
simplest form. Enter one soltion in each response box. I there is only one solution, leave
one response box blank

8) A systean of fimctions is given.

F)=x*—-d4x—5
gx) = ~x+1

Select all values of x, to the nearest tenth, for which F{x) = g{x).

2.1

-1.4

-1.0

0.9

3.0

- 44

G.. 5.0

TR R P

Which equation has the root in addition to the same twomotsnftheequahon xz.;-_ax-m O

. X% x? e G- 20
. x5 4 5x2 o dx — 20
. x34x? —16x—~ 20
L %%+ 5x® + 16x — 20

| D,
uow'p\"

/&J Two functivns are shown.
(x) = x? —4x— 12
g{x) =24 2

Fia

Cucle all expressions aqutvalem 10 Ry &-3

2Pt Tudh

A ren

B. 2{x+3)
2345

G o

——a D- x — 6

kG

E. -




Name:

Write each function in vertex form. Vertex form: a(x - h) +k

7. x> +2x-48

8 x*+4x-12

9. 3x*-6x-18

10. 2x2+8x-10

7

8)

9)

10)




Name: Class: Date: ID: A

Characteristics of Quadratic Functions

Kdentify the following for each function:

2

1. f(x)=-5(x+3) 5. gx)=x"+6x+8

Form of Function:

Form of Funciion: Direction:
Direction: AOS:
AOS: Vertex:
Vertex: Max or Min:
Max or Min: Max or Min Value:
Max or Min Value: Domain:
Domain: Range:
Range;

A
h(x)=3(x-2)+1

A
. @ =E+T7)-3

Range:

. m(x)=x*-8x+15

Form of Funcfion:

Direction:
Form of Function: AOS:
Direction: Vertex:
AOS: Max or Min:
Vertex: Max or Min Value:
. Max or Min: Domain;
Max or Min Value: ____ Range:
Domain:
Range:

com(x)=2x" +3x+1

Form of Function:

Direction:

F-orm .of F‘uncﬁnn: égf;x:
xl(!;g:tlml- Max or Min:
Vert(:.x' _ Max or Min Value: __
Max or Min: ggzl?:
Max or Min Value: e
PDomain: 2

Range: . @) =4x" —4x-3

2. Form of Functi
- - (x—B)+6 'orm of Function:

h(x) = (x-8) Direction:

_ AOS:

. Vertex:
m of Function:

]fi(:-l::ti?m: unction Max or Min:
AOK: Max or Min Value:
Vertt;x‘ : Domain:

Mazx or Min: Range:
Mazax or Min Value:
Domain:




Name:

10

Direction:
AOS:
Vertex:
Max or Min;:
Max or Min Value;
Domain:
Range:
\T”
J
N T Y .
Y 7
Direction:
AOS:
Vertex:
Max or Min:
Max or Miz Value:
Domain:
Range:
ANy

~

o~ on

11

12.

Direction:
AOS:
Vertex:
Max or Min:
Max or Min Value:
Domain:
Range;
/P ¥ /
LL 17
TN :
i
¥
Direction:
AOS:
Vertex:
Max or Min: - .
Max or Min Value; ’
Doemain:
Range:
ANy
N
1. o 1D ;

E & & b U T A Lo Can T

ID: A




QUADRATIC FUNCTIONS Name

Roots, Zeros, and Solutions WS Date Period  ASM#:

Solve each equation by factoring.

1) fix)=06*-115+28 2) gx)=v*—12v+36

— —

3) h(x)=3n"+23n—-8 __ 4) m(x)=5x* + 47x + 56

e peta—

5) f(x) - 25x> -9 6) g(x)=27x% - 12

Find the zeros for each function by factoring.

7) 2x=x*-15 ' , 8) —10x=x*+24

9) 34% - Tx—6 10) ~15x = 14x* ~ 9

Write a quadratic function in standard form for each given set of zeros.

11) 3 and -4 12) -8 and 0

13)' 9 and 2 ' 14) two zeros that have a sum of 8




Name: Class:

Date:

QUADRATIC FUNCTIONS

Identify the following for each quadratic function:

15, Direction:
AOS:
Vertex:
Max/Miun:
Max/Mix Value:
Domain:
Range:
Y-intercept:
Zeros:

-
i

1 AN
7

-
k"

/?p Direction:
AOS:
Vertex:

Max/Min:
Max/Min Value: _
Domain:

Range: _
Y-intereept:
Zeros:

T

5

N
N

1
» 45“53_#\ o~ E{T‘k"s
asrpemet™ |

——

%,

/8.

Direction:
AOS:
Vertex:
Max/Min:
Max/Min Value:
Domain:
Range:
Y-intercept:
Zeros:
y
i
|
rd 2 h Y
N dedatatoe b gk x
18
_ o
Direction:
AOS:
Vertex:
Max/Min:
Max/Min Value:
Domain:
Range:
Y-intercept:
Zeros:
11 y ’
s i
;
- f
1 M [ |
1 i |
1 I
2z W LY
~ A r 4
il e o il Y 2 x
| W |
UL '
1s
"] l
0
1t
Vv




QUADRATIC FUNCTIONS . Name

Roots, Zeros, and Solutions WS #2 Date.__ Period  ASMi#: _
Identify the roots of éach qtm_dratic function by factoring. '

1) f(x)=x*~3x~54 2) h(x)=3n>~16n+5

3) fx)=dx> —81 : 4) g(x) =365 — 4

Find the zeros for each function by factoring.

5) 13x=x"+40 6) —10x=x>+ 30

7) 2x° —21x +40 =0 8) 4x% —25x~21 =0

Write the solr of the equation.

9) A quadratic ion has the following , 10) A guadratic equation has the following
coefficients: @57, b=-3, and c = -7. . coefficients: a=3, b= 13, and ¢ = 12.

11) A quadratic equation has the following 12) A quadratic equation has the following

- coefficients: a=1,b= 15, and ¢ = -36, coefficients: a =1 and ¢ = -235.

e '- 7 % o 3x — 1)(x + 7). At which values of x dees the

: X al 2x* + 7x + 6 can be written as A i
/3) 'I;;e.f ;){:in;; At which values of x does the " graph of the polynomial cross the x-axis? One
' (graph of the l;olynomial cross the x-axis? One solution to x is in Box A and the other solution

,'-B ) [‘_h; p.o]ynomial 3x’ + 20x - 7 can be written as

solution to 5 is in Box A and the other solution to x is in Box B.
. toxisin pOX B. . . - .| Box A Box B
Box A | BoxB % _17-’
3 -2
-1.5 - 2.5 - =
3 > 3 7
3 7
2.5
1.5 2 : 3 7




Writing an equataon and finding zeros for quadratic functions.

| §. By using the table below write a quadratic fanction in standard form and state the zeros for the

function.
X 2 4 ' 6 8 16
- {(x) ] 0 0 ] 24
Equation:
Zeros:

/é By using the table below write a quadratic fuaction in standard form and state the zeros for the

function.
X -5 -4 -3 -2 !
£(x) 8 3 0 -1 A
Eguation:
Zeros:

Identify the following for each guadratic function:

17 Diveetion: . : (8. Direction:
AQS; AOS:
© Vertex: . Vertex:
Max/Min: _ . Max/Min:
Max/Min Value: Max/Min Value:
TDomain: Domain;
Range: Range:
Y-intersont: ] ‘ - Y-intercept:
: o2l =75y
| ‘: . 4
1 1
B : y
. )

W
| AN

TP

L~ v

e 72




CHAPTER 5 - QUADRATIC FUNCTIONS

Solutions, Roots, and Zeros WS #3
* Identify each part of the quadratic function by graphing the polynomial in your calculator.

1) x*-10=-3x

Vertex:

AOS:

Y-intercept:

Max or Min Value:

Type of Zeros:

Number of Zeros:

Identify the zeros:

3) x%=8x

Vertex:

AOS:

Y-intercept:

Max or Min Value;

Type of Zeros:

Number of Zeros:

Identify the zeros: .

2)

4)

Name

Date

Period

P =—11r — 24

Vertex:

AOS:

Y-intercept:

Max or Min Value:

Type of Zeros:

Number of Zeros:

Identify the zeros:

3x? =48

Vertex:

AOS;

Y-intercept:

Max or Min Value:

Type of Zeros:

Number of Zeros:

Identify the zeros:

ASM




5) 2x* —5x+3 6) x° —8x+30
Vertex: Vertex:
AOS: AOS:
Y-intercept: Y-intercept:
Max or Min Value: Max or Min Value:
Type of Zeros: Type of Zeros:
Number of Zeros: Number of Zeros:
Identify the zeros: Identify the zeros:

Write the solutions for each equation,

7) A quadratic equation has the foliowing
coefficients: a =5, b= 31, and ¢ = 30,

8) A quadratic equation has the following
coefficients: a =3, b =-23, and ¢ = 30,

9) A quadratic equation has the following

has t 10) A quadratic equation has the following
coefficients: a =16, and ¢ =-25.

coefficients: a =1, b = -5, and ¢ = -14,

2,
Write each function in vertex form. Vertex form: y = a(x - h)+k

1) x? —4x-12 12) x* +2x—18

13) 2x* +17x+30 14) 3x%-5x+2




Factoring & Dividing Polyn(_)mialsAWS i

1) #2+10x+ 16

3) x2+2x 48

5) 2% + 13 + 18

7} A guadratic equation has the following

coeflicients:a =1, b=15,c = 56. Write -
- the solution(s) of the equation. Enter each
solution in one blank.

X= , X=

9) A quadratic equation has the following
coefficients: a = 1, b=—1, ¢ = =30, Writc

the solution(s) of the equation. Enter each -

solution in one blank.

x= N xr=

11) A quadratic equation has the following
coefficients: a =4, b= 19, ¢ = 12. Write -

the solution(s) of the equation. Enter each
solution in one blank.

=] , N=

Name

Date . - ASM:

2) x*—12x+27

4) x2-Tx-18

6) 26 —3x.+35

8) A quadratic equation has the following

coefficients: a = 1, b=~17, ¢ = 72. Write
the solution(s) of the equation, Enter each
solution in one blank,

x=_ X

10} A quadratic equation has the following

coefficients: a =1, b= 13, ¢ = —48, Write
the solution(s) of the equatlon Enter each
solution in one blank.

x= , X=

12} A quadratic equation has the following

coefficients; a=3, b=-22, ¢ =35. Write
the solution(s) of the equation, Enter each
solution in one blank. .

x= S




13) A quadratic equation has the following .
coefficients: a = 5, b= 139, ¢ = —8. Write
the solution(s) of the equation, Enter each
solution in one blank.

x= , X
" 15) The polynomial x* + 13x — 48 can be
written as (x + 16)(x - 3). At which
values of x does the gtaph of the

polynomial cross the x-axis?

y= S X =

17) The polynomial x* ~ 9 can be written as
(x - 3)(3: + 3). At which values of x does
the graph of the polynomial cross the
x-axis?

FIND gi{x)?

19) The polynomial g(x) is divided by a
binomial, The result is shown below.

¥ =3x+5— —7 Find gx).
x+8

8GO =_

21) The polynomial g(x) is divided by a
binomial, The result is'shown below.

2x+3 - —i— Find g(x).
x+5

g0=_"___

23) The polynomial g(x) is divided bya
binomial. The result is shown below.

-2 +x-5 +*3-ﬁ._Find gx).
. x—2

gx) =

14) A quadratic equation has the following
coefficients: a = 4, ¢ = —49, Write the
solution(s) of the equation. Enter each
solution in one blank.

x= , X

16) The polynomial 3x? ~ 13x + 14 can be

written as (x — 2)(3x — 7). At which
values of x does the graph of the
polynomial cross the x-axis?

X= !x:

18) The polynomial 25x* — 9 can be written as
(5x +3)(5x —3). Atwhich values of x
does the graph of the polynomial cross the
x-axis?

X= ,X=

20) The polynomial g(x) is divided by a
binomial. The result is shown below;

x*+4x+9+ % Find g(x).
x_

g0~ _

22) The polynomial g(x) is divided bya - -
binomial, The result is shown below.

4
3x—2— —— Fi ‘
¥l e Hinde®

g(x)=.

24} The polynomial g(x) is divided by a
binomial. The result is shown below.

3 8% 4 3%~ 5 +—— Find 2(x).
x=-9

B(x) =

-2-




Nama . - Date Class

" Practice A

WM Properties of Quadratic Functions in Standard Form
Identify the axis-of symmetry for the graph of each function. a _

1. f{x)=—~(x - 4 -

2. glx)=5(x—-2+4 .

3. g{x)=12(x + 6)°* -

4. flx)=-3(x+1°~7 -

Teli whether each statement is true or false:
5. The graph.of a quadratic function is always a parabola.

“6. The graphs of all quadratic functions open upward,

7. The graph of f{x) = x* has a maximum value at (0, 0).

For the following functions, (a) determine whether the graph opens -
upward or downward. Then find (b} the axis of symmetry, (c) the N
vertex, and {d) the y-intercept. Graph each function, Then (e) s
determine if the function has a minimum or a maximum and {f) find

the vaiue of the minimum or maximum,

8.gX)=3C+2x+1 - o 9.,f(x).:~.~2x2'—.4x—2
| - a. | _ - . a. | |
b, | | o b.
C. | C.
d d,
J 1
........ o ’
~6 -4 -3 -2 -] 0 5 s e s i— -3 ~§ O ) 5
o
e ' e
f +

. Original conlent Cepyright @by Holt McDougal. Additions and changes la the original cantent are the responsipiily of the instructor,

B5-11

- Holt Algetra 2
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Class

Natne ‘ Date

Practlce B

_ M Properties of Quadratic Funct:ons in Standard Form

ldéntify the axis of symmetry for the graph of each function.

1. gy =22~ 4x+2 2. h(x)=-8+12x-11

L

-3 k(x)y=

~4(x + 3)? +

" For each function, (a) determme whether the graph opens upward or

downward, (b)find the axis of symmetry, (c)find the vertex, and

: (d}ind the y-mtercept. Then graph the funct:on
4. fx) = =12+ 3x + 1
a. Upward or downward

b. Axis of symmetry
c. Vertex'

d. y-intercept

8. g(x)=2x"+4x-2
a. Upward ordownward -

b. Axis of symmetry

c. Vertex

d. y- mtercept

‘ Fmd the minimum or maximum value of each functlon Then state the

domain and range of the function.

6. gl)=x~2x+ 1 - T h(x)=

'S'bive

—5x% 4+ 15x -3 -

8. A record label uses the following function to model the sales of a new release.

a(t) = -90¢* + 8100t

. Thée number of albums sold is a functioh of time, {, in days. On which day
were the most albums sold? What is the maxnmum number of atbums sold

. on that day?
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Complex #'s & Radicals WS

Add or Sabtract
1) (4-9) +(7+3D)

3) (13 + 60) - (5 + 9)

5) 15+ 18i-3(2i+9-8i)+24-30i

6) 19i~ 17 +4(3i - 5+ 2i) - 18 + 3i

Find the product.

Name

Date__ Period

2) (-2 +50) - (10 - )

ASM#:

4) (3 +8i)+ (4 - 12i)

7) (2-4i)9 +2)

9) (5 - 30)(6 - 10)

Simplify

1) 24

13) V25

15) V49

1 V1

8) (3 + 502 -T)

10) (3 + 10i)(8 + 5i)

12) /32

14) /36

16) V63

18) V150




Name:

SECTION 2.1 PART 1

For each of the functions deterimine the following:

1. f(x)=ng4x+5

Direction:

Class:

AQOS:

Vertex:

Y-intercept:

Max/Min Value:

Domain:

Range:

Graph the function

2. fix)=x"-2x-8

Direction:

- AOS:

- Domain:

Verfex:

Y-intexrcept:

Max/Min Value:

Range:

Graph the function

3. f(x)=2%+4x-6

Direction:

AOS:

Vertex:

Y-intercept:

Max/Min Value:
- Domain:

Range:

Date:

B A

b

Y

N

—Graph-the-function

Conversions

4, Factored Form to Standard Form

S =(x-5)x+2)

. 4)I




Name:

5. Factored Form to Standard Form

fx) =&+ 7)x+6)

6. Factored Form to Standard Form

S =3(x-2)(x+3)

7. Factored Form to Standard Form

1%) = 2(x + 9)(x - 1)

8. Vertex Form to Standard Form

S)=(x-3)"+1

9. Vertex Form te Standard Form
fx)=2(x+4)" -8

10. Vertex Form to Standard Form
X)) =-5(x+6)"+3

11. Vertex Foerm to Standard Form

f=x-9) -2

9)

5)

%)

7)

8)

10)

11)




